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GOVERNMENT OF KARNATAKA

KARNATAKA SCHOOL EXAMINATION AND ASSESSMENT BOARD

SECOND-YEAR PUC SUPPLEMENTARY EXAMINATION MAY /JUNE - 2023

SCHEME OF VALUATION

SUBJECT: ECONOMICS

SUBJECT CODE: 22

PART -A
Q No Marks
Allotted
| 10x 1 =10
1| b. Subjective 1
2 C.q=(X1a,X2B) 1
3| d. Positive value 1
41 c. 1929 1
5| b. Macro Economics 1
6 | b.Commercial Banks 1
7 | b. Autonomous Consumption 1
8 | c.Wealth Tax 1
9| c. Gold Standard 1
10 | c. Foreign Exchange Rate 1
| 5x1=5
11 | Average Revenue 1
12 | Stock 1
13 | Barter System 1
14 | Investment 1
15 | 1% April to 315 March 1
1l 5x1=5
16 A B
1. Positive Economics d. Functioning of Mechanism 1
2.1t = e.TR -TC 1
3. Price ceiling a . Upper limit on Price 1
4.SDR b. Paper gold 1
5. Balance of Trade c. Trade in goods 1
PART -B
v 9x2=18
17 | Cardinal Utility Analysis 2
Ordinal Utility Analysis
18 | Inferior goods are those goods for which demand falls with the increase in the 2
income of the consumer.
Examples : Millets, Ragi, Bajra Jowar etc
19 Budget Line Budget Set 2
It represents different Itis a collection of all bundles of
combinations of two goods which | two goods available to a consumer
the consumer consumes and at the existing price and at his
whose prices are exactly equal to given level of income
his income
PiX:1 +P2X; =M PiX1+P2Xo €M




20

Price elasticity of demand is a measure of the responsiveness of demand for a
good to change in its price.

21

e Technological progress
e Input prices

22

Equilibrium price is the price at which equilibrium is reached in the market
Equilibrium quantity is defined as the quantity which is bought and sold at
equilibrium price

23

Features of Monopoly are :
e Existence of single seller
® No close substitutes
e Barriers on the entry of new firms
e Uniform price or price discrimination

24

A market situation in which there are large number of firms which sells closely
related but differentiated goods is called monopolistic competition.
Examples : Soaps, Cool drinks , Toothpaste etc

25

Factors of Production Rewards
e land Rent
Labour Wages
Capital Interest
e QOrganisation Profit

26

Externalities refer to the benefits or harms a firm or an individual causes to
another firm or individual
Types : Positive Externalities

Negative Externalities

27

Cash Reserve Ratio (CRR) is the percentage of deposits which the bank must
keep as cash reserves with itself.

Statutory Liquidity Ratio is Banks are required to keep some reserves in liquid
form.

28

If all the people of the economy increase the proportion of the income they save
the total value of savings in the economy will not increase. It will either decline
or remain unchanged. This is known as Paradox of Thrift

29

When the tax collection exceeds the required expenditure it is called Surplus
Budget
When the expenditure exceeds revenue it is called Deficit Budget

30

e Qutput Market Linkage
e Financial Market Linkage
e Labour Market Linkage

PART - C

7x 4= 28

31

The central problems of an economy are
e What goods are to be produced and in what quantities ?
e How the goods are to be produced ?
e For whom the goods are to be produced ?
[Explanation Needed]

32

Isoquant is the set of all possible combinations of the two inputs that yield the
same maximum possible level of output. Each isoquant represents a particular
level of output




C—Q))i,b&'_ i
sl
L e — - NV = R
N a/z_
l s = 2y,
S . L Lo

Labowu~

[Explanation Needed]

33

Profit is the difference between Total Revenue (TR) and Total Cost (TC)
Therefore n = TR -TC
Every firm under perfect competition wants to maximize its profit. For profit to
be maximized the following conditions must be fulfilled

= P =MC

= MC s not decreasing at qo

Pw i c e

-1 o~ Ve b

Co=t \ /
P - 2=

= v, M e VsV
Ot P&

[Explanation Needed]

34

The Role of Government (State)

e Forming laws and enforcing them

e Function of delivering justice

e Imposition of taxes

e Spending money on building public infrastructure

e Involves in production

e Control and direction of economic activity of the nation

Role of Household Sector:

e By household we mean a single individual who takes decisions relating to
his own consumption or group of individuals for whom the decisions
relating to consumption are jointly determined.

e Households save and pay taxes

e Households consists of people who work in firms as workers and earn
wages. They work in government departments and earn salaries. They
are owners of firms and earn profits .They create demand for goods.

35

The circular flow of income of an economy refers to the flow of income among
different sectors of the economy.

A simple economy consists of two sectors i:e Households and Firms. There is no
government or external trade.

The circular flow of income in a simple economy can be illustrated with the help
of the following chart
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[Explanation Needed]

36

The stock of unsold finished goods, semifinished goods or raw materials which a
firm carries from one year to the next is called Inventory .
Unplanned Accumulation oF Inventories: In case of unexpected fall in sales the
firm will have unsold stock of goods which it had not anticipated .
Unplanned Decumulation of Inventories: If there is unexpected increase in the
sales there will be unplanned decumulation of inventories.

[Explanation needed with illustration]

37

Legal Definitions of Money :
M; =CU + DD
Mz = M; + Savings deposits with Post Office Savings Bank
Ms = M; + Net Time Deposits Of Commercial Banks
M, = Ms; + Total deposits with Post Office Savings Organisations
[Explanation Needed]

38

The functional relationship between consumption and income is called
consumption function.

C_ +cY

Consumption function is expressed as C =

c |

[Explanation Needed]

39

GOVERNMENT
BUDGET

1
1
I 1

Revenue

Budget

Revenue
Receipts

I—I—l

Capital Budget

I—I—l

Revenue
Expenditure

Capital
Receipts

Capital
Expenditure

I—I—l

I—I—l

{ Tax Revenue

Non-Tax
Revenue

Non -Plan
Revenue
Expenditure

Plan Revenue
Expenditure

Non -Plan
Capital

Expenditure

Plan Capital
Expenditure




40 | Revenue Expenditure : 4
e Revenue Expenditure is expenditure incurred for purposes other than
the creation of physical pr financial assets of the central government .
e This expenditure is related to maintain government departments and
various services, interest payments , grants given to state government
etc
e Itincludes Plan Revenue Expenditure and Non — Plan Revenue
Expenditure
Capital Expenditure :
e (Capital Expenditures are the expenses of government which result in
creation of physical or financial assets or reduction in financial liabilities.
e |tincludes expenditures on the acquisition of land ,buildings machinery
equipment,investment in shares .
e Itincludes Plan Capital Expenditure and Non — Plan Capital Expenditure
41 | Merits of Fixed Exchange Rate : 4
e There is more credibility that the government will be able to maintain
the exchange rate at the level specified
e Incase of deficit balance of payments the governments will interfere to
take care of the gap by use of its official reserves
Demerits of Fixed Exchange Rate :
e |f the foreign exchange reserves are inadequate, people would begin to
doubt the ability of the government
e There may be aggressive buying of one currency forcing the government
to devalue
Merits of Flexible Exchange Rate :
e |t gives the government more flexibility and they do not need to
maintain large stocks of foreign exchange reserves
e The movements in the exchange rate automatically takes care of the
surpluses and deficits in the Balance of Payments
Demerits of Flexible Exchange Rate :
e Itis subject to international market fluctuations as the rate of exchange
is determined by market forces of demand and supply
e It may lead to uncertainties in foreign exchange market due to
speculations
PART -D
Vi 4x 6= 24
42 | Features of Indifference Curves 6

e Indifference curve slopes downwards from Left to Right

C><, + @3><, . >, a5 >
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[Explanation Needed]




e Higher Indifference curve gives greater level of utility
Combination X1 Good X2 Good
A 1 10
B 2 10
C 3 10
J
oz
[ =
=3
EFE lofl— —=
{ <o
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!

1

I

T

: EES,
'

1

= =
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[Explanation Needed]

e Two Indifference curves never intersect each other

3
&
< 2 & e,
1
J [
58y
'
|
1
Lo D oanana <
[Explanation Needed]
The market supply curve represents levels of the output which firms in the

43
market produce in aggregate corresponding to different market prices. It is
obtained by horizontal summation of individual supply curves.

B | G
Rerce | /5‘
o= === - -+ - - f- - - - — ==t = = === —— =
P)_.__-__-_ ________ - i e e e e Bt
\
P“_./__-__--_ _-_-_-_-____;__/:-_-______-
| | | | | -
° s YV Ys
Co> (b> ¢ sukpuk
[Explanation Needed]
44 Market Equilibrium
a) qQ° =q°
200 -P = 120+ P
-P-P = 120 - 200
-2p = -80
P = 80/2 =140
P = 40




b) Equilibrium Demand

Equilibrium Supply

qP =200-P q° =120 +P
= 200- 40 = 120+40
q® =160 g°® = 160
P =q°
c¢) When P =45
qP =200-P gs =120 +P
= 200- 45 = 120+ 45
qP= 155 g® = 165
9 >q’
d) When P =25
qP =200-P g° =120 +P
= 200- 25 = 120 +25
q® = 175 =145
Q® >q°
45 Profit maximization is the main aim of monopoly firm. Monopoly market attains
equilibrium when the profit is maximum . Profit of a monopoly firm is given by
the difference between Total Revenue (TR) and Total Cost (TC)
Profit m = TR -TC
The profit of a monopoly firm with zero cost is
n = TR - TC
= TR -0
n = TR
If the Total cost is zero the maximum profit is Total Revenue
This situation can be explained diagrammatically
TR B
Bl oL | =
MR |
P ce TR
a
|
= e —— ' =D
U] iHl‘HTlljl
o ——_
o u.bpu:(éR
[Explanation Needed]
46 e  Gross Domestic Product at market price

GDPmp = C+I1+G +X -M
e Gross Domestic Product at factor cost
GDPic = GDPmp - NIT

e Net Domestic Product ( NDP)

e Gross National Product ( GNP)
GNPmp = GDPmp + NFIA

e Net National Product (NNP)




e Personal Income

e Personal Disposable Income (PDI) [Explanation Needed]

47 | Functions of Money: 6
e Medium of exchange
e Measure of value
e Store of value
e Transfer of value [Explanation Needed]
48 | Balance of Payment is the record of trade in goods and services and assets 6
between the residents of a country with the rest of the world for a specified
period of time usually a year.
There are two main accounts in the balance of payments :
e Current Account
e Capital Account [Explanation Needed]
PART - E
Vil 2x5=10
49 a) Xy = M/P:; = 40/5= 8Bananas 1
b) X, = M/P, =40/10= 4 Mangoes 1
c¢) The Budget line slopes downward 1
d) VYes, the bundles on the budget line are equal to the consumer’s income 1
e) VYesitistrue 1
50 5
Factor TP, MP, AP,
0 0 0 0
1 10 10 10
2 24 14 12
3 40 16 13.33
4 50 10 12.5
5 56 6 11.2
6 57 1 9.5
{For Blind Students only }
e Total Product (TP) : Itis the relationship between the variable input
and output keeping all other inputs constant . Total product is the total
sum of the marginal product
e Average Product (AP) : It is defined as the output per unit of variable
input.
e Marginal Product (MP): Marginal product of a input is defined as the
change in output per unit of change in the input when all other inputs
are held constant
51 Countries Currencies 5
1. USA US Dollar
2. UK Pound Sterling
3. Germany Euro
4. Japan Yen
5. China Renminbi
6. Argentina Peso
7. UAE Dirham
8. Russia Rubel
9. Bangladesh Takka ( Any Five)




